


1PC

2PCS

M6*15

Cap

M6*20 M6*30

M6*35

1PC1PC

1PC 1PC

1PC 1PC 1PC

1PC 1PC 1PC

1PC 2PCS

12PCS 2PCS

4PCS

16PCS

M6*45

1PC

36PCS2PCS

Hex Key

Washer

Left Armrest Right Armrest Backrest

Seat Board Middle Seat Board

Left Foreleg

Right Foreleg

Front Cross Beam

Left Seat Post Right Seat Post 

Cushion 

Middle Cross Beam Back Cross Beam

ASSEMBLY INSTRUCTIONS

A B C

D E F

IH

L

O

K

G

J

NM

RQP

S T U

1PC

Headrest 

V



I J

K

L

D

E

D

T
Q

F O T

C S T C K

N

2

I J

K

L

D

E

D

U
R

F P U

STEP 1

STEP 2

C T U C K

O



P
UU

Q

B

B

US

U
P

A

H

G

A

P
U

SU

U U
Q

P

STEP 3

STEP 4



STEP 5

Assembly Tips: Please use the hardware and accessories included in the set. DO NOT use other electrical or manual tools.
In order to facilitate the assembly and make your final product firm and stable, please tighten by a few rounds each screw 
one by one. After all screws are connected, then you start to tighten each screw to the end.
DO NOT tighten any screw to the end before you’ve connected all screws.
The assembly requires minimal level of DIY skills if you follow the instructions carefully. In case you encounter any 
difficulty or have any questions, feel free to contact the store or manufacturer.

WARNING: Cushions must be put away in rainy and windy days in case they are diminished or blown away.



ASSEMBLY INSTRUCTIONS

STEP 1

STEP 2

STEP 3
D

E

C

F

A

B

C

D

E

F

G

Part# Reference Image QTY

1

4

1

8

4

1

1

M6*15

M6*25

Place table top frame (A) on the ground, then screw table legs (B) to it. 
M6*15 bolts (E) are used. Please do not tight any bolts to the end at this step.

Screw table leg support ring (C) to table legs. M6*25 bolts (F) are used. 
Make sure all screws are inserted properly and tighten all bolts to the end. 

Place table top tile (D) on the table frame properly. Finish and enjoy your table.

B

A

E

ASSEMBLY TIPS: Please use the hardware and accessories included in the set. DO NOT use other electrical or manual tools.
In order to facilitate the assembly and make your final product firm and stable, please tighten by a few rounds each screw one by one. After all screws are 
connected, then you start to tighten each screw to the end.
DO NOT tighten any screw to the end before you’ve connected all screws.
The assembly requires minimal level of DIY skills if you follow the instructions carefully. In case you encounter any difficulty or have any questions, feel free to 
contact the store or manufacturer.


	图纸和视图
	模型


